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(b} 72
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(d) 78
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(a) 16
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[a) 90

(b} 100

{c) 150
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1. The number 2=3=5=T=114] 1=

{a) a prime number
(b} not a prime, but power of a prime

{c) not a power of a prime, but a
composite ¢ven number

{(d) not a power of a pnme, but a
composite odd number

. Two unequal pairs of numbers satisfy
the following conditions :

(i} The product of the two numbers
i each par 158 2160

(i1} The HCF of the two numbers in
cach pair is 12.

If x 15 the mean of the numbers in the
first pair and y 15 the mean of the
numbers in the second pair, then what
i5 the mean of r and v 7

(a) 60
{(b) TZ
[c) 75

||I.” T8

. How many digits are there in (54)!% 7
(Given that Jlog,2=0301 and
log o3 = 0-477)

(a) 16

(b) 18

(c) 19

(d) 27

4.

in
-

Which one of the following is & set of
solutions of the equation =™ ¥ i :
if » is a positive integer 7

(ay 11, &)

() {1,4n}

{c) 41, 1}

(d) {m, m

In a competitive examination, 250
students have registered. Out of these,
50 students have registered for Physics,
75 students for Mathematics and 15
students for both Mathematics and
Physics. What is the number of students
who have registered neither for Physics
nor for Mathematics 7

{a) 90
(b) 10K
(c) 150
(d) 160

If the sum of the digits of a number
10" -1, where n i5 8 natural number,
is equal to 3798, then what is the value
of m?

{a) 421
(b) 422
(c)} 423
(d) 424

Which one of the following is the

) 3
largest number among 22222, 22222
22211. :EJEI n
(a) 22322
(&) 2222

(c) 2223

(d) 2222*
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{a) 4

(b) 5

r

@ 5
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{a) 3
(b) 13
(e} 39

(d) 117
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14.

B wE 1 US Hem, THh W W
FEA-EaE W AT W e % W’
# o it | ot 9 st B wEm W
T H AR B, M EE R R 7
(a) El
by 42
{c) 24

(d) 18

aft a3 g, fome it
Prhkx-15=0% g7 9 wwn £
a-fi=8 % @ kW GAEE WO
£7

{a) 2

(b) 3

(c) 4

(d) 5

p 3 g & W e w1y, afg - 1)
M (x+2) Tow SHdaliprtg F
Frmfim o & ¢

(a) 1, -6

(b} 2, -6

(c) 1.6

d) £ 6

afE 2+ 5c+6 M 2+ Bc+ 15 W
HCF (x+b R, Mk wmsnd ?

(@)
(b}
{c)
(d) 1

Pk lad L.}




B. If m is the number of prime numbers
between O and 50; and » 15 the number
of prime numbers between 50 and 100,
then what is (m—n) equal to 7
[a) 4
b) §
(c) 6

(d) 7

=1

B

and

& |n
Bl

he
. then what is the value of "T—j_ i d

e

| =

(&)

| =

{b)

b |

fad

(c)

o |

27

(d) n

10. Which one of the following is the
largest divisor of 3*+ 3143 jf
x is any natural number ?
(@) 3
(b) 13
{c} 39

(d) 117

5

12.

14.

A two-digit number i3 9 more than
four times of the number obtamed by
interchanging its digits. If the product
of digits in the two-digit number 15 5,
then what is the number 7

{a} El
(b) 42
(c) 24
(d) 18
If  and f are the roots of the quadratic
equation x* +kx—15=0 such that

a~-fi=8, then what is the positive
value of k7

(a) 2
(b) 3
(c) 4
(d) 35

. What are the values of p and ¢

respectively, if (x-=1) am_il (x+2)
divide the polynomial x*+4x*+pr+g 7

{a) 1, =6
(b) 2, -6
(e} 1. 6
(d) 2, 6
If (x+k) is the HCF of x>+ 5x+6

and x*+Rx+ 15, then what is the
value of &7

(a) 5
(b) 3
(e} 2
(d) 1
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15, 3 57 -5 l=go0 %, T 102w "
T R 7

(a) |
by L0000
(g 100000

(d) 1000000

16. 79 o wE wEw R R R oaeE 1008w
28200 3R 44311 =1 oo =3 ™
wers farfs & o= dw (wwm) dwww
W wi # | 9 A e v
(a) 272
(b}
{c)

[l
Lad

1
=L

Fed
Fed
—a

(d) 120
17.28 2+ 92 =6y B, & y:x fivedk
T 7
(a) 1:3
(b) 1:2
(€) 2:1

() 3:1

18. 9% m A1 o ol 79 wew € s

"= 13312, T (m - 1" = W o

(d) 125
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(d) Za™™

a2 x=+2, y=33 sz : =05 &, A
frfafm da s oo el # 7
() y<x <z

b) s<x <y

) 2 =<y < x

dy x <y <:

11 logx = |-2500 st y= y deig & ﬂ, A
o y s e 2 7

{a) 4-2500

(b) 2-5625

(c) 1-5625

(d) 1-2500

afg flx) T (x-a)x-p) 7 FRenfim
Ei = 0] AT, AW o= fi & A YR W

-g 3
a) (x—a}f{a)=(x= ) ()
i~
b (x=—a} (B =(x= ) ()
-
o x=Bif(e)-(x-a) /()
) a—B
@ E=BB) - (x-a)f(a)
x-f




15.

16.

17.

18.

If 51— 5%1=600, then what is the
value of 1027

(a) 1

(b 1000

(c) 100000

(d) 1000000

A number divides 12288, 28200 and
44333 50 as to leave the same

remainder in each case. What is that
number

(a) 272

(b) 232

(c) 221

(d) 120

If x*+ 9" =~6xy, then what is y:x
equal o7

{a) 1:3

(b) 1:2

(e} 251

(d) 3:1

If m and m are positive integers such

that m" = 1331, then what is the value
of (m-1y1 2

(a) 1
(b) 100
(e) 121

(d) 125

19. What is e + ﬂ‘“':"--i equal to 7
(a) 1
{b) -1
(e} 0
(d) 2a™™"
20, If £=+2, _1-==1-..'_’- and z=%6, then

21.

. If fix) is divided by (x

which one of the following is comrect ?
(a) y <x <1z

b) s <x <y
(e} s <y <x

(d) z<p <z

If log x = 1-2500 and y = x"f%  then
what is log y equal to?

fa) 42500

(b)y 25625

(e) 1-5625

(dy 1-2500

a)(x — i)

where a=f, then what is the

remainder

(x—a)fla)—(x=F)fi B)
e~ fi

La)

(x—x) .r'{,ﬁ‘.!_—_i_n — ) f{ex)

(b) ey
(x=@ fla)—(x—a) ()
|:L'] S AT
x-fi
(x=B) N (B)=(x—o) f(x)
(d)
o=
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aft uF o W S
2401x% + 1960 + 4 7, M wh g K
s T R v

{a) 49" +3x+2

(b) 49 -3x+2

(c) 49+ 2

(d) 5% +2

% .r._!.:ii A = T T, # ¥
fererer witem: agm € 7

(a) xz

| =

{h)

() 3

(d)

ofg famg P R QW TE A
wETat 0-73 3% 0.56 ® frefim =@
taploFdafighand 7

|
(&) -

LA |

(k)

16
() 2
11

(d) HE
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27,

28.

O-HATE 9T Sx + 2y = Txy WK
IOz + 3y = Bxy w1
e FHam g a7

(a) [—1.%]
() [%,-a]

()
) | L=
- %)

1 )

@ |2 24

L 6 I

ot @y v & e v ol 20%
RMAE R ATy A
wfer = 10% & 9fz oxft & 1 = 20010
A, ¥ X FT W 5000 W AR T
YT 2000 @ | fem of # que
AR IS W W FA 25000 A sfe
)
(a) 2012
(b) 2013
{c) 2014

{d) 2015

X AR ¥y & wiomt (W) W s
5:6%1 9% 1.2 km @ ™ 2R (W)
# ¥, X%t 70 m $ fomwm (g
2 ®, @ W # o o o fsadh
gl (3eR) & it 7

(@) 30mFHFH N W A ¢

(b) 90 m % 3 & ¥ & A ¢

{c) l]{bnliﬁﬁﬁl'ﬁm%
(d) @ famga aued W v o




23.

23,

If the area of a square is
2401z + 1962 + 4, then what is its
gide length 7

Fud

(n) 497+ 3x

(b) 49x* - 3x 4

]

(c) 49" +2

(d) 50x%4+2

If x varies as yz, then y vanes inversely
as

{a) x=

(b)

b | =

b | i

(c)

@ o

If the points # and ( represent real
0-56 on the

number line, then what 15 the distance
between F and Q07

numbers 0.-73 and

T
- 5

(b}

gy ==

@ 5

26.

28.

What is the point on the x-plane
satisfying Sx+ 2y =Txy and
10+ 3y =8y 7

(2) |—I. I |
\ i
[-] \
) |-, -1
L6 J
[: )
ek | L —=|
L\ &)
it I
dy | ==, =1
R -
The price of an article X increases by

20% every year and price of article ¥
mcreases by 108e every vear. In the
vear 2010, the price of aricle A was
T5000 and price of article Y was
T2000. In which year the difference in
their prices exceeded ¥5000 for the
first time 7

(a) 2012
(b) 2013
(e} 2014
(d) 2015
The ratio of speeds of X and ¥is 5: 6.
If ¥ allows X a start of 70m n a

-2 km mace, then who will win the
race and by what distance 7

[a) X wms the mmce by 30 m
(b} Y wins the race by 90m
(c) ¥ wins the race by 130m

{(d} The race finishes in 8 dead heat

A - PLKI-T-MTK
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&1 v gl WA W 9 nE 9 6
HOE W R ¢ A e W A
H99 # ¥ UL yEA wEedi & | e
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{a}) 30 km/hr

(b} 40 Em'thr
(c}y 35 km'hr

(d) 25 km/r

uft 6 g9 3R § uitand ow w0 =)
10 87 A 90 & ¥%a #; i 13 T
3 24 wieamd et wm w1 4 fm & g
w e B, @ uw A % uw 9w gw
form 7o =y = v i & o wiemn o
form o w@ A, FqIw W R 7

() 2:1

(b} 1:2

fc) 4:3

(dy 3:4

TF FE H BN Fhaar f1 0 w6
A et et # femn s d ) of
W dfis #§ Bl 1 wEn 2 am A
ardt &, ot dftnat &t gem 3 = B
2 | oft wli ufes & et € wem 4
w7 & ot #, o oftegt o wwn 5 W
e wlt B ) wn | et gem fea
g7
(a)
(b)
(c)
()

100
105
1o

120

. T Wi o 2 =l i fan ve e e

# AT =R 9w v # | i wm
1% W@ ST W OW =AY AT
T, O W 24 v fim w0
wafi it & 7
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(dy TI200
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WAAEE w1 WiEEEl o odEen o
s 27 < 34 # i o e B qei 6
wAHE w1 wieeEl B weEen |
A 6:7 B, A = qEr aiE &
T W e, qel o aEe
w1 witarel & wEEn ¥ STE W
)

3
=

33
41
BS
K2
71
%
5
() =

{(a)
(b}

(cl

TF AN W WElEd] W W WE

1 wenm # aw 3:4 B W H

farenfeia} = stea =2 46 B2 ® | ol

e AR W A w48 Fe ®, M

e # wafeal @ e s W ® 7

(a) 42¥EH w=

(by 424k 7 sfts AfF 43 62 A
T

() 436w & zftes afts 44 fiz @
LT |

(d) 44 7 wfims Afd 4.5 Fz &
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29,

3L

32.

A train takes two hours less for a
journey of 300km if its speed is
increased by 5 km/hr from its usual
speed. What is its usual speed ?

{a) 50 km/hr
(b) 40 km/hr
(c) 35 km'hr
(d) 25 kmvhr

. If 6 men and ¥ women can do a piece

of work in 10 days; and 13 men and
24 women can do the same work in
4 days, then what is the ratio of daily
work done by a man to that of a
woman 7

(a) 2:1
(b) 1:
c) 4:3
{d) 3:4

e

Students of a class are made to sit in

rows of equal number of chairs. If

number of students is increased by 2
in each row, then the number of rows
decreases by 3. If number of students
is mereased by 4 in each row, then the
number of rows decreases by 5. What
i the number of students in the class 7

(a) 100
(b) 105
(e} 110
(d) 120
A sum was pul at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it

would have feiched T24 more, What
iz the sum 7

33,

(a) T500
{b) T600
(c) TROO
(d) T1200

The population of two villages 15 1525
and 2600 respectively. If the mtio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6:7, then what is the ratio
of male 1o female population of these
two villages taken together 7

(a)

(b)

{c)

{d)

In a class room the ratio of number of
girls to that of boys is 3:4. The
average height of students in the class
18 46 feet. If the average height of the
boys in the class is 4-8 feet, then what
18 the average height of the girls in the
class 7

(a) Less than 4-2 feet

(b} More than 4-2 feet but less than
43 feetl

More than 4-3 feet but less than
4-4 feet

More than 4-4 feet but less than
4-5 feet

(c)

{(d)

A - PLEI-T-MTK




38, = (221) 3,5,9,4, 6, 11, 189 micmm srrerret H (03) WAt & fam fade .

(sitfeme) war & 7 frmfafen gwn =1 fyn st am o @
o A9 w1 I i
Frrfafian s = 2010 # »: s=m-3=m
(b) 65 W41 A, B, C, D, E 3R F # &1 wu st o)
ey HE (o) w1 frefm =@ €, fiell &
WA ol gft o o), el e

safy # = fafive @ At whivem wmw
firay (1) ¥R it ot fdem (Seile) =

WETE W T (L) |

(dy 7-5

36, TF ToieE A o v & | o A & £ O
Tt 7 WA 12238 A W A 1 7 %

e w1 o o R 7 A 56 43 25|
¢ B 1305 903 461
X C 2019 940 474
o D 1166 R0 416
' F 1198 | 464 | 174
(c) 150° %
38. wivfem St it sfteem i wgam
(d) 120° (=prm) witneen o=t 39w #
(a) F 3 D
37, el weaten & # fadt ol
o (b) D3 F

& it sl w250 8 50§ WA
o o & | ww R S v W 170 (c) C s A
g 3w frmm 3 70 & sEfe
e § A S A WA &
S w S T R

(d) D3R A

39, whifia Siftat & sfvem Frdem =

@) 15 Al W B
F
&) 17 {a)
{b) D
(e) 20 (c) B
(d) 24 (d) A
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A58, What s the median of the data 3, 5,
9.4, 6 11, 187

(a] 6
(b} &5
(c) 7

(d) 7-5

In a pi-dingram there are three sectors
If the rabo of the angles of the sectors

is 1:2:3, then what is the angle of

the lorgest sector?
(a) 2007

(b) 180°

(e) 150°

(d) 120°

37. The maximum marks tn a Test are
converted from 250 to 50 for the
purpose of an Internal Assessment. The
highest marks scored were 170 and
lowest marks were 70, What 5 the
difference between the maximum and
minimuwm méarks scored in the Internal
Assessment 7

(@) 15

{by 17
(e} 20

(d) 24

13

Directions for the following three (03)
ffems :

Read the following information and answer
the three items that follow :

The following data presents count of
released convicts who have served prison
terms (X)), those who have received some
cducational or techmical training during their
term (¥) and those who were offered
Company placement (£) respectively, from
six different jails A, B, C, D, E and F, in
the year 2010.

I J Z

| A |6 | 4 25

. 1305 903 461
C | 2009 | 940 | 474
D | 1166 | 869 | 416

| B | 841 5% 1 aw |

[ F 1198 | 464 | 174 |

38. Jails with hghest and smallest percent-
age of trained convicls are respectively
{a) F and D
(b) D and F
(¢)] C and A

(d) D and A

39, Jail with highest placement rate of

tramned convicts is
(a) F
(b) D
(ch B

(d) A

A - PLKI-F-MTK
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41.

421.

43,

# afiem 2fiet & Al (3) W
wea WW g g, #

(a) A. B3R C

(b) A, B 3T D

(c) A, D3R E

(d) A, E#ITF

A st welt Bt wed (wof s
Pirm &) et ® ot 7 & W B ot
I I W WH FEE W B W Sh
7% W &7

(a) &

(b) 9iw

(e} I

(d) dm=

WHIEW Sx+ Oy = 7 M Hyw WA
el 500 < x < 500 3 -500 <y < 500
27
(&)
(b}
(c)
(d)

110
111

112
I H 0 owE

wm #ife e xyz st (A s
it v wgumr & | wm diftm 5= xy7 4+
YZv + Zxy ¥ | Frafafan & &
W/ e wd R
.S a5 3 3R (X+Y+2Z) & WA #
2. 5 ®ta 9 & wim ¢

.59 178 W #
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A fm o w W owEw = W I
i .

(a) a7 |

(b} #as 2

(ey 1 3 2

(dy 1 3k 3

felt fafem gt =1 @ =@ & fam,
X ot y & sl wfil 4 5% s
% &) uft o awm wi d x ¥ @
s 45 Te sfm e &, @Y ¥y @

70 Was wE v # feem ww
= 7

135 firme
150 firre
180 fime
225 fome

(a)
5}
{cl
{d)
ol o et = dEm 5 ol

TAEE PR S B W W R
e W § 7

ia)

(k)

(c)

(d)

Bk
]
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40.

41.

4.

43,

Jarls from which more than half of the
trained convicts are offered jobs, are

(2) A, Band C
ib) A, B and D
{c) A, D and E

A

(dy A, E and F

The number of three digit numbers
{all digiis are differént) which are
divisible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six
(b) Five
(c) Four
{dy Three
How many integral values of x and y

satisfy the equation 5x 4+ 9y =7, where
—500) < x < 500 and 500 < y < 500 ?
(a) 110
(b) 111

ey 112

(d} None of the above
Let X¥YZ be a 3-digil number. Let

§=X¥Z+ ¥YZX+ZXY. Which of the
following statements is‘are commect 7

. § i= always divisible by 3 and
(X4 F+.2)

2. 8§ is always divisible by 9

3. 8 15 always divisible by 37

15

45,

Select the comrect answer using the
code piven below :

(a) 1 only

(b} 2 only

(€] | and 2

(d) 1 and 3

In covering certain distance, the
average speeds of X and Y are in the
ratio 4 : 5, IT X mkes 45 munuies more
than ¥ to reach the destination, then
what is the time taken by ¥ to reach
the destination ?

{a) 135 minites
(b 150 minutes
(e} 1B0 mimtes

(dj

225 munutes

For two observations, the sum s 5 and
product 15 F. What 15 the harmonic
mean of these two observations ?

)

(b}

ic)

(d)

A - PLKI-T-MTK




46. o x Fr affs am ¥ & offs wm

. 50, afz | «* ll:-r‘%.iTr_" 4 ]
7, AP R @ Y& oIy H 0 [.~+IHI 7 |u:+r'-‘:|

Hﬁﬁ;ﬁuﬂﬁlpmmm%-’ ar w7
() lﬂﬂ (&) 3b
(®) 164 (b) 27
(e) 17 (c) 18
(d) 20 (@ 9

47. 0 =m ot = wewm owm o# A

3,4, 5 637 # w7 51. v dfem oS Frz W 360 IW P |

ve #E W g% ufem e e e

fa) 1764 .

(b) 17640

(c) 44100 L,

(d) 176400 ) G
dH‘:lFﬁEETmFE‘nﬁ}HF:Tﬁ?mE|qﬁfHT (e) 12=

framt w1 e W A R W a @ Ton

A # 20 foe @A & | o e o

at g & ) ol FEw g frawm W 33
wie W0 |7 2w wdt B o e il
W w7
(b) 36
(a) 30 Toz
' (c) 2¢
by 40 iz )
{c) 50 frz (d) 24
ey 53, =T Hife 5 0 < §< 90° M
49, uf¥ (x2 - 1), @axtbadvexd e W TE 1000 =90° & | TR o= %, cotndl t
ez 8, A Peafufs & & @ @ Afffm o madto
@Fﬁﬁ_"‘ (a) o= |
{a) a+b+c=d+e &) o 7
by a+b+e=e+d
c) b+c+d=a+e (e} a>1
(d) atete=b+d ) D<a<l
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46, If the annual income of X is 20%%
more (han thot of ¥, then the mncome

of ¥ is less than that of X' by pY.
What is the value of p?

fa) 10
(b) 164
(c)
(d)

l'i"j;
20

47. What is the least perfect square which

is divisible by 3, 4, 5, 6 and 77
(a) 1764

(b) 17640

(c) 44100

(dy 176400

In a water tank there are bwo outleis.
It takes 20 minutes to empty the tank
if both the outleis are opened. If the
first outlet is opened, the tank is
emptied in 30 minutes. What is the
time taken to empty the tank by second
outlet 7

(a)
(b} 40 minuies

30 minutes

(¢} 50 minutes
(d) 60 minuics

49, If (r*=1) is a factor of

act+bhyl+or +drte,
then which one of the following 18
cormect 7

(a) a+b+e=d+e
(b) a+b+e=c+d
(¢) b+tet+d=a+e

(d) atc+e=b+d

17

S0,

7 A

If[ X+ ]'J =47, what i5 the value of
-

1
s |

|I x" + '5‘,:| .

X

(a) 36
(b) 27
(e} 1B

(dy 9

. A wheel makes 360 revolutions in ong

minute. What 18 the number of radians
it turns In one second 7

(a) 4=
(b) 6=
(c) 12z

(d) l6=x

What is the least value of
(25 cosec’x + sec’x) ?

(a) 40

(b) 36
(e} 26

(d) 24

Let 0<B<9® and 1008 =5%0°. If
n:ﬂﬁlcmﬂa, then which ome of
the following is correct ?

(8 a=1
b)) =10
(e} a>1

(d) D<a<l
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54. af2 tan 60=cot 20, wel 0<60 < 2, 57, TR AW % o A p A g g W AR
. w & W A fRm R et A

BE R0 N R R W v % T S 270
(a) 2 SR E | AR R S T R 7
(b) 2
5 (a) pg
© 5 |
(b) -+ g
4
=] ;
(c) 24
55, 15 m 390 U IF B 94 0 W WER ¢
m & 5 gwm ofvd wfer (=) =t g
? o 7= F W 30° w1 o = # @y 124
A # 30 g & Sam el @ ot @ &
a7
(a) 10m 58, sin’6° + sin?12° + sin?18% + ... +
By 7m sin*84° + sin?90°, ®1 A W R 7
{c) 5m @ 1
{d) 3m
{(b) 2
56. T "ETA 6N W T FE e s
g o# 100 B f htow ) oA (c) 4
dAr £ d9mt 40 iz & | 6 B2 T
(F1) o= W W F AR F aW W (d) 8
e ATl T W oww wew o b e
wAl ®aEr & ofd o wR w ofd o cosf ,

Smwt Rodbmagd P e g T TR
g 75 dR R, @ wg dew @ e

{ ) forrit & 7 (a) cosectH

(a) 85 ) secd

(b) 110 H=

© 125 B (¢} secl+ coscch
(d) 140 Hz (d) cosect— cotd
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S4. If tan 68=cot 26, where 0 <6< E 57. The angles of elevation of 1|'|.|:_ top of
. n tower from twio pomnis af distances

then what 15 the value of sec 487 p and g from the base and on the same
straight line are 27° and 63 respec-
(n) 2 tively. What is the height of the tower 7
(b) 2
(8) pg
2
(c} 73 .
s tb:l L. PEJI
d 4
@ 3 ©) P4
.

8. A tree of height 15 m is broken by
wind in such a way that its top touches |
the ground and makes an angle 30° (d)
with the ground. What is the height
from the ground to the point where tree

is broken ? 58. What is the value of

., | TR |
{a) 10m sin“6° +sin*12° + mn-f!':“* P_.
gin“B4" + gin=90" 7

(b) Tm

(¢} 5m (a) 1

(d) 3m (b} 2
£6. On a plane area there are two vertical (c) 4

towers scparated by 100 feet apart. The

shorter tower is 40 feet tall. A pole of @ 8

length 6 feet stands on the line joining
the base of two towers so that the tp
of the towers and tip of the pole are L y .
also on the same line. If the distance 59, What is ———+—— oqual t0?
of the pole from the shorter lower is bising: ootd

75 feet, then what is the height of the

taller tower (approximately) ? (a) cosecH

(a) 85 fect
(b) 110 feet

(b) sccl

| {c) secl+ cosec
(c) 123 feel

(d) 140 feet {d} cosecO—cotd

19 A - PLKI-T-MTK




ging i — opsl + | 2 sinld + | R
" sin# +cosf =1 cosl

-# 2

fa)y O

(b) 1

(e} Zsinél

(d) Zcosf

61. (fan x + tan ¥y} 1-cot £ cot y) +
{cot x <+ cot yH 1- tan-x tan _rj.f'ﬁlﬁ
wHET £ 7
{a) 0
(b) 1
(¢} 2
(d) 4

| -
EIE-"C "I- n x
62. .| —

VSEC X+ lmnX

—
SiNx+cosx
1
anr+cotx
1

seCr+ianx
|

COSEC X 4+ Cof x

, Toreres o #

(a)

(b)

(el

(d)

63.afz p, wm wgmlw # s & ik
cu:ﬂ:% ® W (sinf + cosf) W WA
]

w7
(a) 1

64
65
79

65
(d) 2

(b)

(c)

PLKI-T-MTK - A
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6.

65,

tifh.

1—35m'1ﬂ~;1_:=s'1ﬁ'
sin' 6+ cos' @
A 7

izl 0

(b) 1|

(e) 2

+4 W 9 tews

(d) 5

U S 48 cm #1114 em R R |
uf? fawed, =§1 @l g & wma = 9
T B, T (sech+cosech) TorE

L ok
TS
\2) 168
725
(b) 168
375
\*) g4
125
(d) %4

w4 firgw & dwe s Fwrhy syt
& wart %+i_i+-'t— l:.;_ k7

r ¥y ¥y I

F

(x+y+2)

Xy

fa)

".-I Xyz

()

X+ §y+2




6.

61.

61,

ginfl—cosf+1 smi+1
e sinfi +cosf—1 cost
equal to?
(@) O
(k) 1
(c) 2sin8
(d) Zcos@
What is (tan x + tan ¥ 1= cot x cot ¥) +

{cot x -+ col ¥M 1-tan x tan y) equal to ?

(a) ©
(b) 1
(e) 2
{d) 4
-!51::.1'—1..']]1.[
What 15 [ —m—— l 167
hat 1% Vs alis equal fo
Al s
(8) |IN X + COB X
et
(b) tanx+oolx
{.." ;
o SeCX 4 tany
|
(d)

COSEC X+ ol X

If @ lies in the first quadrant and
cnll?:-"‘-:!-
16
(sinfl + cos@) 7

{a) 1

oy

® &

79
{c) 65

dy 2

3 then what s the value of

64,

What = the value of
1=25in’ Acos’

sin' @ +cos* @

+4 equal to7

fa) 0O
(b) 1
(c) 2
(d) 5

. A rectangle is 48 cm long and 14 em

wide. If the diagonal makes an angle &
with the longer side, then what is
(sech + cosecl) equal tw ?

W =

(b)

(e}

325

{d} 84

. What is the area of the triangle having

s Y. XX X
side lengths £+, 24X Xyt
ot F X X ¥y ¥z
{x+y+z}:
e e
nT
oz
(b) X+y+r
_|.£+£.|.'E
(e} Xy z %
|,1;1.J+y:+:_:
i) - e
Y ==
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67. 9% v frgw & Ww 30° oty 450 ¥ (a) d<26cm

s m_m (weifres) T & (b) 26cm<d<27cm
s [ﬂ-l'l}cm t‘ Bl ﬁ? i (c) 27T cm<d-<28cm
e

s (d) d>28cm
(@ (V3+1) cm?

- . 70.5 cm # fen 3@ uwm T oW, R
ib) [»'_1+.?-} em* |t 48 R AC W TUER =
Fiis : AB=AC=8em ¥ | St pC & wamé
{c) E{'43+l}| cm o & 7
(d) If-"3+1} cm? ta) 9cm
_ (b} o2cm
68. ABCD, Wi W & SR i wE e} 946 om

wz & | T £F, T DA wae @ o

Frerol 4C s BD % witwim fag 0® {d) 9-8cm

e aEt ® ) wwE sfafes, £ DO

wiEmtsrapmfom ) <z
D # & Fopi

ﬁ(§|##im1::“;ﬂ;ﬁm; T FG RAT R T dem B H

CEs I G R L R G T #r Prord e € 7

W#F {(a) 11 em, 7 cm

71. % T wEtow By @ el o § )
HAEAl 1 GTEA  136rem” B AR

(b} 10 ¢m, & cm

5
5 8 c) 9 cm, 5 cm
(b) ; (d) &8 em, 4 cm
3 72. 9f2 v 39 ok uw 9 F e wER
' 4 ®, 9 T i s v o7
T I._
F Ay 248
() B |
. (b) =
69, 20 cm 3T 16 cm F Tirvursi @@ &1 9w =
T Tat W wen § s wdfes o & () XX
ward 24 cm ¥ | ot o 1 & A z
& gt o &, W Ffifim & & o w r=
d)y —
us at B 7 (d) <

PLKI-T-MTK - A ¥




67. If the angles of a triangle are 30°
and 45 and the included side is

[ﬂ.’lj + !.] ¢m, then what is the area of
the triangle 7

{a) {\-"3 + I) cm?

0.

(b) I[-.J +3} cm?

(c) %{ 3+ 1] em?

() 2|[‘-.'I.3 3 ]}l fm:

. ABCD 15 a plale in the shape of a
parallelogram. EF is the line parallel
to DA and passing through the point
of intersection @ of the diagonals AC
and B0, Further, E lies on DC and F
Ites on A8, The inangular porfion DOE
is cut out from the plate ABCD. What
is the ratio of area of remaining portion
of the plate to the whole 7

(a)

= IR ]

(b}

- | L

ic)

(d) m

Two circles of radit 20 cm and 16 cm
intersect and the length of common
chord is 24 cm. If 4 is the distance
between their centres, then which one
of the following 15 cormect 7

43

Tl

T

(a) o =26 cm

(b) 26em<d<27cm

(e} 2Tem<d<28cm

(d) d>28cm

In a circle of madius 5cm, AF and
AC are two chords such that
AR = AC = § em. What is the length of
chord BC 7

(a) Ycm

(b} %2 em

(e) 96ecm

(d) 9-8 cm

Two circles touch internally. The sum

of their areas is 1367 em? and distance
between their centres is 4 cm. What are
the radi of the circles 7

{(a) 11l em, 7 cm

(h)

[0 em, & ecm
(€] 9 cm, 5 em

(d) 8 cm, 4 cm

If area of a circle and a square are

game, then what is the ratio of their

perimeters 7

(a) 2Jm

o I

(b)

()

T
n |
F e

+ I

@
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73. B cm =W TEA1 TH 91 56 Weh 61 7411
¢ f5 o @ wER W W@l o
wa # | e o s afis e 9=
fer wm # ww wEw T o ¢ fE own
a1 et o 9w w0 wf aa #
Wiz 79 e R 7

(a) #(3-+/2)cm
(b) 4(3=2+2)em
(¢) B(3-+2)em

(d) B(3-2 2 j cm

MH.UF A R e | =R wm e R
st fren 3 Bz v i 7 fe
? | e wmfer A w1 TR E AT
firsht v fadm o & o= oo n
G EE IR AR A o
W W I W # om % P o &
formeit w1 smEwgsa 7

firet

id | =

{a)

faet

b |

{b)

e

(c)

1]
(d) 3 foree

75. o% Wi R UF IOE & HEmE S0t
#) ot amm & ws ogwm K
weTerE B9 # i & v g & waEnd
& o % W }, W amm Hos=

(zgrdt) span it ward il

PLKI-T-MTK - A
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Tih,

TTe

(a) H’Eﬁﬁ‘r‘ﬁmﬁmﬂﬂiﬂ
(by =t &t gan & waErd =] AN
(c) e (Teew) wavd

(dy =t g & F= & g

uw sman & ward ol e, 4.3 F
s 7 € | o fawot & fewnt e =t
o B oA T e & s W,
fret & fewit s @ wn & W=
o fop & dee, @ s Reeen
g

(ay 3:4

(b) 4:3

(e} 16:9

d) 1:1

am it 5 30 $e Fowm W
T & @ 20° % uw wee (Freae)
T U & = i | e A e
Lol e
(a) 150x T 6
(b) 550x W HE
(¢) 650x W HE

(d) B50x W HiE




73. A circle of diameter 8 em 15 placed in
such 8 manner that it touches two
perpendicular  lines. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What 15 the diameter of the smaller
circle 7

{a) #(3-+2)cm
(b) 4(3-242)cm

(e} B(3- J2) em

(d) 8(3-242)em

74. The thickness of a cylinder is 1 foot,
the inner radius of the cylinder 15 3 feet
and height is 7 feel. To paint the inner
surfsce it requires one litre of a
particular colour. How much gquantity
of the same colour 15 required to paint

gll the surfaces of the cyhnder 7

(@) litre

fed | =

lithe

P | fd

(b)

E fitre
(<) 3

(d)

E litre
3

75. A square and a rectangle have equal
arcas. If one side of the rectangle is
of length numerically equal to the
square of the length of the side of the
square then the other side of the

rectangle 1s

25

Th.

. SUpposE 8

square rool of the side of the
square

(a)

{(b) half the side of the square

(c) of unit length

{d) double the side of the square

The length and breadth of a rectungle
are in the ratio 4 : 3. Then what is the
ratio of the area of the tmangle formed
by the paris of the diagonals with a
long side to the area of the triangle
formed by the parts of diagonals with
g short side 7

fa) 3:4
(b} 4:3
(el 16:9

(d 1:1

region I8 formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is the area of this new region 7

(a) 150m square feet
(b) 550x square fect

(¢} 650x square feet

(d) 850x square feot

A = PLKI-T-MTK




78. ABCD % wwimw wpw &, fl 4c 81, 1% uw woraa & fawet ooty €, W

A gD fawei € ) ok 2BaD =60, FOHT GeE T R 7
ZADB =907 %, &t BD? fired woaw
g
e ? 8) =
3 g
(a) — A& x
:'-I ]
5 (b} 4
(c) :],.43-' o e a8
& s g2.7% fm &1 woet & s=Emmd
dy =AB* = - ir : —
(d) 3 I, 440y, 59z B T8 3x<d [y<35i:
79. T WAR WA ABCD % ofed 4 @ 1l B w0 w900 @, @
it w€ v @ oC A P e R X, ¥ 2 % A QO A
i o tE W T BCR QW fred L
1 3 p, DCc = wofam #, @ (@) 1,23
Feafafes & & o m /% =9 oh B 2 3 4
t/87 _ e e L1, 1
. APDA® B9%H, APCO S § % ) 3 4 5
= W |
2. AQAB ST 80999, APCO® Swsa g3, vx Prw & afs & aftes Bt oftam
. WEme B w7
A T T g2 oW v W A S Y 1
4 % (b) 2
(n) &ad | 1
(b) aa 2 ¥ s
(c) 13221 (d) 3T
(d) AWM 1,782 .
84, 9% 6 cm P o1 v w6 51 =g
80. 1-4 m Pr=n s 5 m et v v o 30° W e W sehe o & A
(55) Wi & v e o Htey faed : i ' i
_ ; . ! F0 W 6 ward wve feedt § 7
argAt gt ¢ _ '
@) 302 W e (a) ¥14 cm
(b} 2-15 em

(b) 30-4 WA e
(c) 306 &9 Wiex
(d) 30-8 9= W {dy 2 em

(c) 214 cm
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T8. ABCD 15 a parallelogram where AC

and B0 are the diagonals. If
LBAD = 60°, LADE =90°, then what
is BD? equal to?

AR

T

{a)

AR

| e

(b)

(c)

Bd | =

N
-

(d) = AB

el || Bt

A line through the vertex 4 of a
parallelogram ABCD meets DC m P
pnd BC produced in 0. If P is the
mid-point of DC, then which of the
following isfare correct ?

l. Area of APDA is equal to that of
APCQ

2. Area of AQAR is egual 1o twice
that of APCQ

Select the correct answer using the
code given below :

(8) 1 only
(b) 2
(c) Both 1 and 2

(d) Neither 1 nor 2

only

How many cubic metre of earth is to
be dug out to dig a well of radus 14 m
and depth Sm?

(a) 302 cubic meire
(b) 30-4 cubic metre
{c) 30-6 cubic metre
(d) 30:8 cubic meire

27

. What

. If the diagonals of a thombus are x and
¥, then what is its arca ?

T
{a) 2

X
(b} '

(g} xy

(dy x*—y*

. The lengths of sides of a triangle are

3x, 44y, 5%z, where 3x<4/y<5%:.
If one of the angles is 90°, then what
are the minimuom integral values of

x, ¥, = respectively 7

(a) 1, 2,3
b) 2,3, 4
c) 1, 1, 1
(dy 3, 4, 5

15 the maximum number of

circum-circles that a4 inangle can

have 7
ia) 1
(k)

ick 3

]

(d} Infinite

. If an arc of a circle of radius 6 cm

subtends a central angle measuring
30°, then which one of the following
is an approximate length of the arc 7

(a} 314 em
(b}
(c) 2-14 em

(d)

Bl

15 em

b

CITH
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85.

B,

87.

5 m w1 UF HE U SN0 5 W
Tl wE & TR 9 T MR W 4.8 m 3N
famg oo et & ofie aft s ot & om
=i femm famm o wve el (Fedia)
Srare 1 e wirg Boar A aw 14 m
34 g w vl @ | et < W
it & 7

() 5B m

(b} 6 m

{c] 62 m

(d} 73 m

wer wed Frmn ) vm e T 8 9
T ST ¥ R 7

(a) 4 =i wwmd

(b) 242 = T

(¢) m & wd

(d) 2 = =

r B ot 4 wm afim W WA
3 HEF W U AT O W WER TET T
& 5 werw W e 2 i el wh
# 1 ¥nft fin | oW T W W v @
T # 5 A W el A W W e
gl B dAelt iy F e & guaw @
o, et # 9

q
(a) :zw.'j_r LL O}

N3+242

(b) —r T
W s
=
(©) 35575 ™
31+242
{d) =y

3
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89.

UF W FAT WAT UF MEE W
dw-diw ot w9 & fag s & ol
EE & YR SR p HE wET W
TFTan fwa g &, 9 Pefefim g R
Conle e bl

(a) p= g
(b) p= 2g

(c)] 2p =g
(d} Zp = 3g
ABCD 'S wTiw W v ® &
AD = DC = CA = 20 S%T8, BC = 12

TS AT LABC =90° ® | w@dw
ABCD W =ra wnm feen & 7
269 & T
300 ¥ v
125 wf wewrd
349 T TETS

(&)
{b)
)
{d)

Wﬁﬁﬁhfﬁﬂrnlhﬂmﬁﬁmﬁ
& =E PORS B 1 PO, OR S RS
wran wamd & § | 05w =w W uE
stfger ot wn & (Fen fF atm ®
feamm war #) | oifte @3 W sl
e # o # 7

(2) 2%5:121

(b} 5:13

(¢} 5:18

(d) 1:2




85. A ladder 5 m long 15 placed in a room

50 a5 to reach a pomt 4-8 m high on
a wall and on tuming the ladder over
to the opposite side of the wall withouwt
moving the base, it reaches a point
|4 m high. What is the breadth of the

room 7

(2) 3B m

(b) 6 m

(€} 62 m

(d) 75 m

. What is the arca of the largest squure

plate cut from a circular disk of radius
one. umt 7

(a) 4 square units

() 2»..@ BuAre urits
(¢} = square units

(d) 2 squarc units

. Out of 4 identical balls of radius r,
3 balls are placed on & plane such that
each ball touches the other two balls.
The 4" ball is placed on them such that
this ball touches all the three balls.
What is the distance of centre of 4%
ball from the plane ?

(a) :-.'1*,'% r unit
N
h) ".'3':'—:‘.-. ¥ ik
r :
(c) W unit
7 59,03
id) ité' .. F umit
l‘-I

19

88.

A right circular cylinder just encloses
a sphere. If p is the surface area of the
sphere and g is the curved surface area
of the cylinder, then which one of the
following is correct ?

(@) p= g

b} p=2¢
(€) 22 =gq
(dy 2p = 3q

ABCD s a quadrlateral such that
AD = D = CA = 20 units, BC = 12
urits and ZABRC =90 What iz the
approximate area of the quadrilateral
ABCD?

(n)
(b}
{c)
(d})

209 5q umis
300 sq units

325 sq umiis
349 =q umits

Let PORS be the diameter of a circle
of radius 9 cm. The length PO, OR and
RS are equal. Semi-circle 15 drawn with
(5 as diameter {as shown in the given
figure). What is the mtio of the shaded
region to that of the unshaded region 7
(a) 25:12]

(b) 5:13

{c) 5:18

(dy 1:2

e
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91. 23.

A B
e S0 ¥
B
L7 SEeee e
:/ foy e s #, ufy 2= 6 oS =51,
My WAA TR ?

fidt mt s & wifim o = S
fan #, o weirs 39 &t = 2em (a) 457
e

: . (b) 30°
(&) 4+/3=1mem”
:I:'.:l ‘-.E-J'I"l:“!'lfl;I “_.' 152
(¢) +3-=cm?

2 (d) 10°

(d) 2m-243em’

92. 94, ABCD T Thfwmm (wr=a) £, =
AB, DC & 79 B | Oi% AR =4 cm,
BC=3em, CD=7em 3 DA =2 em
&, & ddiforw = dsm T # 9
-
(@) 2215 cm
] TR
fir w4, wifim o w1 GaE (b} 22.\!: em’
e & 7 A

() m—-+3) T TEE
(b) Hdr—33) = wrk
(¢) 3Iw—-43) = word .13

= [dj - E: Em:
(d) 9(y3-m) W wErd 3

(e} 2243 em?
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What 15 the area of the shaded region
in the given figure, if the mdius of each
of the circles is 2 em 7

(a) 443 -2xcm’

3

(b) JI-mem

(c) "'.IJ'

i
T

- - |

(d) 2w,-243cm’

i umiks

!ﬁ- uniu/

In the given [igure, what is the area
of the shaded region ?

(a) 9(m=+3) sq units
(b) 3(dmw—34/3) sq units
{c) 33w —443) 5q units

(d}) '-J:--ﬂ—:ﬂ 50 s

k]|

93,

e

In the given figure, :I!'% = & and i =5

then what 15 the value of x7
(a) 45°
k) 30°
(c) 15°

(d) 10

94, ABCD i3 a trapezium, where AR 18
parallel to DC. If AB=4 em, 8C=1 cm,
CD=Tem and DA =2em, then what
is the area of the trapezium ?

(2
—£m”

V3

(a) 22

|3 "
(b) 22 .;'_; cm”

(e} 2243 cm®

-
2242 ?

() cm”
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95, for m wim # pp RS & wwim
R, ZAEF=95°, /BHS=110° 3R
LABC=x"R M xwmam T g ?

{a) 15

{b) 25

(e} 30

(d) 35

fon ™ wim § B famw m #)
LI+ D+ LA+ LS+ £6+ LT+ £8 .
HIHA TR 7

(a) 240°

(b) 360°

»
{c) 540°

(d) 7200

fou 7 s &/, 4B, CD% W £ #k
AC, BD% wareR & | uR 2E4C =407,
LFDG = 55°, ZHAB = x* &, M x ™
o e R 7

{a) BS

(b) B0

(e} T3

(d) 65
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,\Kﬁ
1___—;[;7 |

Angles are shown in the given figure,
What is valoe of £+ 22+ 23+24+
LI+ L6+ LT+ LB 1T

(o) 2407
(b) 360°
fe) S54(°
(dj V20°
P R
'y 4
A 15___1: E (,|
gsﬂ _\_\__‘—\_\_.l\_
s
._,_,—'—'_'_'_'-_._-.- =]
ca—1% HF 10
v v
4] L.

33

97.

In the given figure PO is parallel o
RE, ZAEF=95" SBHS= 110" and
LARC = 27, Then what 15 the value of

X7

(a)
[(b) 25
30

LE)

(d) 35

=
L
L -
.-~""’*
m

v

“ f&-\
< I/ L > F
T

i

In the given figure AB is parallel to
CD and AC is pamllel w BD. If
ZLEAC=40", LFDG=155°, LHAB=x",
then what is the value of x 7

{a) BS
(b) 80
75

(e}

(d) 65
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08, {(a) 153 em*

S
i (b) 255 cm”
{¢) 284 cm”
Al ‘)”\J'I - (d) 30-5 cm?
E o 1.

feu m st &, i o 79 ABC, AEF
# COF €1 4 3 c & & & @
28 vt ®, 3 F, AC = menfeeg #
AT adget = T e e @ 7

(a) 924 = TEHE
(b) 824 =i wwrd
for v wvm & wed #, Feafafes
(¢) 624 o w=rf FaA W FrEw $ifao .
. AdOD 31 ABOC & =IFa1 S0
(d) 462 i TrEd AAOB 3N ADOC &

HAFAT & GETEE o == § |
2. FAOD = AR
JAB+BCH+CD+DA=>AC+ BD

T § & o | v we § 7

(a) &9 | ¥ 2

(b) = 2 st 3

(c) Fa= | 33

(d) 1,233
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98. (a) 153 em?

B
/,--"“ =2 (b) 255 em?
/ (c) 284 cm?
II E 1 =
A — C (dj 3 -em®
|L /l d) 30:5
e ; 100,
E f B
In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-
tance between 4 and C is 28 units and A
F is the mid-point of AC, What is the
total area of the three semu circles ?
[
(a} 914 squarc units
D HET c

{(b) 824 square units
Consider the following statements with

(c) 624 square units reference 1o the given figure :

l. The sum of the areas of AAOD
{d) 462 square units and ABOC is equal 1o the sum of
the areas of AACE and ADOC.
o, 2. LAOD= £ BOC

L AB+BC+CD+DA=AC+ BD

= Which of the above stalements are
IF" correct ?

PR

{a) | and 2 only

(b) 2 and 3 only
{c] | and 3 only

What is the approximate area of the
shaded region in the figure given ? (d) 1, 2 and 3
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